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The speeds of four cars are 2u, 3u, 4u and xu
and the time taken by them to cover the same
distance is xt, 4t, 3t and 2t respectively, where
x, u, t are real numbers. What is the value of

x ?

&) 8 du x b = 3ux#4b
(b) 6

() 5 °?'X = /2-

dy 2
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The speeds of four cars are 2u, 3u, 4u and xu
and the time taken by them to cover the same
distance is xt, 4t, 3t and 2t respectively, where
x, u, t are real numbers. What is the value of

x7?

(a) 8
(b) 6
(c) b5
d 2

Ans: (b)
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Q) A scooterist completes a certain journey in 10 h. He
covers half the distance at 30 km/h and the rest at 70 km/
h. What is total distance of the journey ?
(@) 210km (b) 400km
(¢) 420km (d) 500km
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Q) A scooterist completes a certain journey in 10 h. He
covers half the distance at 30 km/h and the rest at 70 km/
h. What is total distance of the journey ?
(@) 210km (b) 400km
(¢) 420km (d) 500km

Ans: (c)

EXAMS
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Q) B starts 4 minutes after A from the same point, for a place at
a distance of 7 miles from the starting point. A on reaching
the destination turns back and walks a mile where he meets
B. If A’s speed 1s a mile in 8§ minutes then B’s speed 1s amile

in ___ minutes.

@@ 9 (b) 12 © 10 (d) 8 .

P’:___.-(, mle = 9 Fotal disfon ce [7 A= F+l=8 mld
7I}Y)Q, ﬁY A = g = 64 m104

% milu — (]ﬁ-)

(l mile — § mt'ns)

64 = ﬁ+%__)
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64 = “(VLB_)

60 = 6
VB
- b = A miles / M
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Q) B starts 4 minutes after A from the same point, for a place at
a distance of 7 miles from the starting point. A on reaching
the destination turns back and walks a mile where he meets

B. If A’s speed 1s a mile in 8§ minutes then B’s speed 1s amile
n minutes.

@ 9 (b I2 © 10 @ 8

Ans: (c)



CDS & AFCAT 1 2025 - REVISION - MATHS - LIVE - SDT

Q) A train crosses a telegraph post in 8s and a bridge 200 m
long in 24 s. What 1s the length of the train ?

\'ﬁ‘ ’ 0
@ 100m ) 120m £om — le”ﬂﬂ’ °7[ Tl
(¢) 140m (d) 160m 'y m/! _ gf”f‘{ , y

L - =z L= §v "'—__(’)
4

L+200 _ =dy = gy +20 = 24V

v
/gy - 200 & V= 200 _ - g5 ,
vy =8ioom )
Ky,
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Q) A train crosses a telegraph post in 8s and a bridge 200 m
long in 24 s. What 1s the length of the train ?

(@) 100m (b) 120m
(c) 140m (d) 160m

Ans: (a)

XAMS
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Q) The speeds of three buses are in theratio 2 : 3 : 4. The time

taken by these buses to travel the same distance will be in
the ratio

@) 2:3:4 (b) 4:
(c) 4:3:6 (d) 6

/ . _L: _L = 6 :lf:g
q 3 9
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Q) The speeds of three buses are in theratio 2 : 3 : 4. The time
taken by these buses to travel the same distance will be in
theratio

@ 2:3:4 (b) 4:
(c) 4:3:6 (d) 6

Ans: (d)

EXAMS
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Q) A passenger train departs from Delhi at 6 pm, for Mumbax.
At 9 p.m., an express train, whose average speed exceeds
that of the passenger train by 15 km/hour leaves Mumbai

for Delhi. Two trains meet each other mid-route. At what
time do they meet, given that the distance between the
cities 1s 1080 km ?
(a) 4pm. (b) 2am.
(¢) 12mudnight (d) 6am
det peteer frofp /s Speed be  &_Kmfh.
0o
eipress frain = (x+15) knfh,
50 SY -3

E—

2 %+ 4
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540 _ 5% - 3

X L+lh

5407 + (590 XI5) _ s4or = 3
1" 4157

30 % 9p

oy = S valay

4157 4&3@5‘_}6_

*t /5% —2700 20
2700 20 —— («Ma)(x—l/f) =0 7

1"+ Gox 5L -
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Tlime 7‘0 ken ,
60

)M_ - /2 goursA
4%

5

(o/)m + R hours
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EXAMS

Q) A passenger train departs from Delhi at 6 pm, for Mumbax.
At 9 p.m., an express train, whose average speed exceeds
that of the passenger train by 15 km/hour leaves Mumbai
for Delhi. Two trains meet each other mid-route. At what
time do they meet, given that the distance between the

cities 1s 1080 km ?
(a) 4pm. (b) 2am.
(¢) 12mudnight (d) 6am

Ans: (d)
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Q) A boat goes 24 km upstream and 28 km downstream 1n 6
hours. It goes 30km upstream and 21 km downstream i 6
hours and 30 minutes. The speed of the boat in still water 1s :

(a) 10km/h (b) 4km/h
(¢) 14km/h (d) 6km/h

def !fced o/ Load In KN mafer bt T km/ﬁ,
Z “ (frean be 0( /(m/g,

|

17 17 | 7(.-&( ﬂf&(

4 'f__{f_.:é {——?B—-T:?—L—"—“é'i
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u L LY
X—a( ?H'J

Yy + by = 6 —— X5

D

ou + Ay =65 — xy

J20ut 40y = 30

200 + E4v = 26
IS

- =
56v = 4 ?(V'Tﬁ 7

"

‘{_59__131—’:6-5

M'd(
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u-= _L
b
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Q) A boat goes 24 km upstream and 28 km downstream 1n 6
hours. It goes 30km upstream and 21 km downstream i 6
hours and 30 minutes. The speed of the boat in still water 1s :

@ 10km/h (b) 4km/h
(©) l4km/ (d) 6kmh

Ans: (a)
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Q) A train 1s travelling at 48 km/hour completely crosses another
train having half its length and travelling in opposite
direction at42 kim/hourin 12 s. Italsopasses a railway platform
in 45 s. What 1s the length of the platform?

(@) 600m (b) 400m
(¢) 300m (d) 200m

def  fhe luvf/) Of firsf Tain be " m

pe Lt th o5 kT A

(‘lf‘“ﬂ) X% /zﬂ/)()_i_/ L= Jopm
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/
A00 + L;\i
f'}( A }%’, den ¢ h of /;Mﬁmﬂ
; R

IS

/3/(0?00 + [-,)__ :-/?’{
4o

Qo9 +1 7 SAYO

)7 = 6bp — 200
> 400m
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Q) A train 1s travelling at 48 km/hour completely crosses another
train having half its length and travelling in opposite
direction at42 kim/hour1n 12 s. Italsopasses a railway platform
in 45 s. What s the length of the platform?

(@) 600m (b) 400m
(¢) 300m (d) 200m

Ans: (b)

XAMS
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Q) In a flight of 600 km, an aircraft was slowed down due to
bad weather. Its average speed for the trip was reduced
by 200 km/hr and the time of flight increased by 30

minutes. The duration of the flight 1s '(u( OTiJ;na / 70& '4 AL \V, /<m /£

(@) 1 hour (b) 2 hours

(©) 3 hours (d) 4 hours and  time (a(uro\f/'on) of #fdhlf
be t' hours.

More fime — dest frme

s

600 J-—- '600 = -?-I:
(v—zorﬂ 4

-

b0y — Goo v + /20000 = _V (v-200)
2
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boov — Goo v + /20000 = _V (v-200)
2

2
Y0000 = ¥ — Jo0V

v = 200y — 2Y0000 = 0

"+ 4oy — 600V — 24p000 =

v:—4po 5 V=600 Vv

7

( Yfﬁ! CM)

boo Yoo
t = boo
4
bov 1 bouy
600 N
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EXAMS

Q) In a flight of 600 km, an aircraft was slowed down due to
bad weather. Its average speed for the trip was reduced
by 200 km/hr and the time of flight increased by 30
minutes. The duration of the flight 1s

(@) 1 hour (b) 2 hours
(¢) 3 hours (d) 4 hours

Ans: (a)
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Q) A thief 1s noticed by a policeman from a distance of 200

m. The thief starts running and the policeman chases him.
The thief and the policeman run at the speed of 10 km/hr

and 11 km/hr respectively. What 1s the distance between
them after 6 minutes ?

(@) 100m (b) 120m
(¢) 150m (d) 160m
o/?e,/a'/fv eed = [I/-1p knlp = [ X 5 mfy - —‘5:—-’0!
e yped = (-] knf AT L
¢ minufs = 6Xgp = 860 feconds. Dis fanee  befhaeen Them,

Distnes  covered - /(,,,); ; }/f = Ioom 10 - /oo :
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Q) A thief 1s noticed by a policeman from a distance of 200

m. The thief starts running and the policeman chases him.
The thief and the policeman run at the speed of 10 km/hr

and 11 km/hr respectively. What 1s the distance between
them after 6 minutes ?

(@) 100m (b) 120m
(¢) 150m (d) 160m

Ans: (a)

EXAMS
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EXAMS

Q) A man cycles with a speed of 10 km/h and reaches his
office at 1 p.m. However, when he cycles with a speed of
15 km/h, he reaches his office at 11 am. At what speed
sould he cycle, so that he reaces his office at 12 noon?

@ 12.5km/h ®) 12km/
©) 13kmh d) 13.5km/h
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EXAMS

Q) A man cycles with a speed of 10 km/h and reaches his
office at 1 p.m. However, when he cycles with a speed of
15 km/h, he reaches his office at 11 am. At what speed
sould he cycle, so that he reaces his office at 12 noon?

@ 12.5km/h ®) 12km/
(©) 13km/ @) 13.5km/h

Ans: (b)
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Q) The distance between two points (4 and B) 1s 110 km. X
starts running from point 4 at a speed of 60 km/h and Y
starts running from point B at a speed of 40 km/h at the

same time. They meet at a point C, somewhere on the line
AB. What 1s the ratio of AC to BC ?

@ 3:2 (b) 2:3
(¢c) 3:4 (d) 4:3

EXAMS
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Q) The distance between two points (4 and B) 1s 110 km. X
starts running from point 4 at a speed of 60 km/h and Y
starts running from point B at a speed of 40 km/h at the

same time. They meet at a point C, somewhere on the line
AB. What 1s the ratio of AC to BC ?

@ 3:2 (b) 2:3
(¢c) 3:4 (d) 4:3

Ans: (a)

EXAMS
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Q) A man starts from a place P and reaches the place QO in 7
hours. He travels 1/4™ of the distance at 10 km/hour and the
remaining distance at 12 km/hour. The distance, in kilometre,
between P and Q 1s

(@ 72 (b) 80
© N (d) 70
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Q) A man starts from a place P and reaches the place QO in 7
hours. He travels 1/4™ of the distance at 10 km/hour and the

remaining distance at 12 km/hour. The distance, in kilometre,
between P and Q 1s

(@ 72 (b) 80
© P d) 70

Ans: (b)
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Q) A train travelling at the speed of x km h crossed a 200 m long
platform 1n 30 seconds and overtook a man walking in the

same direction at the speed of 6 km/h 1n 20 seconds. What 1s
the value of x?

@ 30 (b) 4 ©) 56 (d) 60
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Q) A train travelling at the speed of x km h crossed a 200 m long
platform 1n 30 seconds and overtook a man walking in the

same direction at the speed of 6 km/h 1n 20 seconds. What 1s
the value of x?

@ 50 (b)) 54 (©) 56 d) 6

Ans: (d)
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Q) A man starts from B to K, another from K to B at the same
time. After passing each other they complete their journeys

in 37 and 4 - hours, respectively. Find the speed of the

3 S
second man 1f the speed of the first 1s 12 km/hr.
(@) 12.5kmph (b) 10kmph

(¢) 12.66kmph (d) 20kmph
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Q) A man starts from B to K, another from K to B at the same
time. After passing each other they complete their journeys

in 37 and 4 - hours, respectively. Find the speed of the

3 S
second man 1f the speed of the first 1s 12 km/hr.
(@) 12.5kmph (b) 10kmph
(¢) 12.66kmph (d) 20kmph

Ans: (b)
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Q) A passenger sitting in a train of length 100 m, which is
running with speed of 60 km/h passing through two bridges,
notices that he crosses the first bridge and the second bridge
in time intervals which are i the ratio of 7 : 4 respectively. If
the length of first bridge be 280 m, then the length of second
bridge 1s:

(a) 490m (b) 220m
(¢) 160m (d) Can’tbe determined
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Q) A passenger sitting in a train of length 100 m, which is
running with speed of 60 km/h passing through two bridges,
notices that he crosses the first bridge and the second bridge
in time intervals which are i the ratio of 7 : 4 respectively. If
the length of first bridge be 280 m, then the length of second
bridge 1s:

(a) 490m (b) 220m
(¢) 160m (d) Can’tbe determined

Ans: (c)
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EXAMS

Q) A train after travelling 150 km meets with an accident and
then proceeds with 3/5 of its former speed and arrives at its
destination 8 h late. Had the accident occurred 360 km
further, 1t would have reached the destination 4 h late. What
1s the total distance travelled by the train?

(a) 840km (b) 960km
(¢) &870km (d) 1100km



CDS & AFCAT 1 2025 - REVISION - MATHS - LIVE - SDT

EXAMS

Q) A train after travelling 150 km meets with an accident and
then proceeds with 3/5 of its former speed and arrives at its
destination 8 h late. Had the accident occurred 360 km
further, 1t would have reached the destination 4 h late. What
1s the total distance travelled by the train?

(a) 840km (b) 960km

(¢) 870km (d) 1100km

Ans: (c)
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